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N.B. .— (@) Attempt All questions.
(i1) All questions carry equal marks.
(@i1) Use of logarithmic table is allowed.
@) w9 HEdn
({i) \E YTAHE FHM O AT,
(fii) ~ AMRYH qeRar=al STqUd YLEil 318,

1. Derive mathematically the equilibrium of consumer according to cardinal
utility approach. 10
AT ITAINT SRIGMIIER A Igdy IqHiRard Hard geia.

Or
(fenam)

Given : Utility function U = g9, and
Budget constraint 240 = 3qq + 8¢y
Find utility maximising quantities of g; and gs,.
STIRE wa U = 9192 afor
ST 32 240 = 3q; + 8g, o M
YT WEwH HOM g 9 go = TEEA I
P.T.O.
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Write any two properties of Cobb-Douglas production function. 10

FHiF-SIH IcqG Held IRl & o fora.
Or
(feram)
If total cost function TC = 5x2 + 3x — 100 and total revneue function
TR = 100x — 5x2; then find MC, AC, MR and AR.

SR TEW T@ERA TC = 5x2 + 3x — 100 371 TH U<t A TR = 100x — 5x?
™ "R %0 MC, AC, MR =701 AR.

What is linear programming ? Give an example and solve it by graphical
method. 10

T JASH BN M 2 T Tk SEEl I d d STeifed 9gdi dredl.
Or
(fenam)
Demand and cost function of a monopolist is given below :
P = 50 - 2¢q
TC = 100 + 5q
Find profit maximising price and output.
Tehl HRICR™ AU o ©" hd Eeid 390 fodd 3’
P = 50 - 2¢q

TC = 100 + 5¢q

Qe T HecdH HOMU fohHd o IcUIed UTdcsl e
Attempt any two of the following : 10

(@) If demand function P = 40 — 2x, then find out price elasticity of demand
at x = 0.
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(@) If demand function D = 25 — 3P
Supply function S = — 10 + 2P
find equilibrium quantities and price.
(zii)  Write a short note on ordinal utility function.
(tv)  Explain the concept of monopoly power.
ECIGIGEET aﬁvﬁ‘é Eﬁ"l redr
() SR AT %A P = 40 — 2x 3HA W x = 10 A AR fohAd aerfaehan

TR .
(@) ST HFOT %A D = 25 — 3P
q QEel A S = — 10 + 2P

T Held THe 9 fohad e
(i) HECY ST HaeR desdd A9 fosn
(v) TUHMYRR TEA & Theddl TL HI.
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